NEBEEROBERER (Bfr: uSv/h)
e - HE1m
p: % < -

No| RIEH | KA e T e U
1 7H14H m&FdE AYDORI| 0.06 - - -
2 7H15H FaE=; BEFIS 0.06 - 0.06 -
3 7H12H HUI7 LR 0.08 - 0.07 0.06
4 7H1H i3 = Ay 0.06 - - -
5 7818 - FMHAE 0.07 0.08 0.07 0.07

RS Hh X
6 7818 R |B KR/ NS 0.06 - - -
7 7818 |BRZB/NER 0.07 - 0.06 0.07
8 7H8H it |IBHEERERT 0.07 0.06 0.06 0.06
(BGI: uSv/h)
_ HE1m

No AlIE R X % MR % .

8 i |[MEVT| BiE | =
1 78298 m&ArAEAYOR|  0.06 - - -
2 7H26H roE=s BE&FI5 0.07 - 0.07 -
3 78268 Yo7 EE 0.09 - 0.07 0.06
4 78198 i3 = A 0.05 - - -
5 78198 - FMHAE 0.07 0.08 0.06 0.07

T R dth X

s | 7R10m | IBAGENEE: | 005 _ _ _
7 78198 |HRZB/NER 0.06 - 0.07 0.07
8 78198 bl IB¥EHEE 0.07 0.06 0.06 0.06




